1)

2)

3)

4)

5)

6)

UCNI LIST — Potence

Izracunaj:

a) 53+(—4)2=

b) 3+(-1)'+(-2) =

0) 2'—(-3)'-(-1) =
Izracunaj:

a) (-2)(-1)°—(-4) =

b) (—6)3—52-(70—(—2)3)=

O (3 (2 ((2)'+5°)-
Izracunaj:

) (-4)-(-2)-3"-((-5) ~(-2)') =

) 6 ()-8 ((7)~(2))-
Izracunaj:

a) (-5)-(-1) -8((-7)"-%)
) ()" () -3 (7' -(-5)) (2 -
¢) (-3)-(-1)°-7’ -(80 —(-4)

w
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+
|
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Izracunaj:

2) (-6)"+(-4)+((-5)" (-1’ (-3)') =

Poenostavi:
a) (X5)3-x:
b) v +(y°) :(v?) =
c) (X3Y)4'(X2y3)5: x5y4)4:

d) (-5)° —(-2)"+(-2)
e) (-6)'—(-2)-5=
) (=7)(-1)" -5-(-2)
d) (-5) +(-1) (3~ (-2)")-
e) (_4)3.(_1)8_52.((_6) 34
N (-6) (-1 -4((-8 -2



7) Poenostavi:
) (y) (<) 1 (0?) =
b) (X8y6)7:((xy) (x°y°) )

c) (x?’yzz)8 :(xsyzz) =

8) Poenostavi:
Q) (#) 1 (20
b) (18x5y1°)3( y6)5:

3 7

c) (16x5y14) :( xye) -

9) Poenostavi:

a) (—X2)7 (=x)" :(—x3)5 =

b) (—X)2 .(_y)5 '(—X)7 :(_y)?, _

10) Poenostavi:
a) (X7y2)3:(x4y)4+(xy3)2
D) (%) - (xy) =(<y°) =

11) Izracunaj:

2) 16:27-2°((12)"~(0.8)°)-

0) (829 ((-7)" -7

c) (0,2)°-10*~(0,125)" =

12) Izracunaj:
a) (0,4)°-16-(0,7)"-(-7)° =
1

b) (4)°-1,25+44.(0,3)" =
c) (25)°-(0.)"

~32.(3%) =

13) Izracuna_]

a) (-81)°-3°- 28( )

b) (0, )104(3) (( 1)° ~(-2))

0 (45)"(-8) ~(13)"-(05)" =

14) Izracunaj:

) 2% (& (-1 +(3)7)-(01) " (0.3-57)=
b) (0,8)°-(=2) +2° -(12%.10*2 +(3%)’1) _

7

d) (x'y22) - (w'z?) s (xy'2°) =

2 4

e) (x1°y527) :(x5y23) -

f) (x5y3z4)6:((xy4z) (x12y3z7))

0 (oo (e (o) -
€) (Xsy) (8X y) (2xy ) =

4,,2,3

f) (3x2y423) (81x5y223) (27xyz

d) (0,4)°
e) 81-(0,6)"

-8-(0,2)"-10=
~(0,4)"(-2)’=
f) 2% (P44t (2)°=

d) (0,6)°-0,63-(0,75)"(2%)"

e) (15)°-243-(0,3)°-(44)
f) 750~5-3+62((o,4)-2_3—1)=

9 5% a4 (9 127)

D (00)" (-6 -"(o5.10"-(17)")

) -



15)

16)

17)

18)

19)

20)

Izracunaj:

) (06)" (-3 -9"(6320*-(14)")-

b) 275.(724_(_1)7+(%)—2)_(0'2)—2.(013_471):
Poenostavi:

Q) () (x?) " =

b) (v*) " :(y') =

c) (x’3)_2-(x5)_6:(x*7)3:

Poenostavi:

a) ( x’2y3 )4 : (st y,4 )—2 _

)(34*2
b)[_g’j _
Xy

c) (quz )‘3 :(XsyJ,)S _

Poenostavi:
a) (x°y? )_4 Xy )_2 H(xty® )_3 -

X76y2 -4 12 -2
o (22022
Xy y

c) (X74y7223)‘5 :(x’3y4z’2 )‘6 _

Poenostavi:
a) (3x’2y’4 )5 :(9x3y*1° )2 _

b) (8x"‘y)3 :(6x*6y“)2

c) (6x*2y)3 :(9x’3y5)2 =

Poenostavi:
a) (2x3y’4z’4)7 :(8x’2y52’14)2 _

b) (27X’3y8)5 -(81x2y)74 :(3xy’6)76 -




1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

RESITVE UCNEGA LISTA — Potence

a) 141
b) -22
c) 44

a) 0
b) —441
c) -15

a) —266
b) 218
c) —2148

a) 1539
b) 1286
c) —2803

a) —88
b) —145
c) 64

a) X16
b) y*
c) X7y

a) x32
b) X11y3
C) x4712
a) 2x’
b) 24x%°
c) 32x°

a) X
b) —x7y

a) x’y° -(x3 + y“)
b) Xey14 .(Xe _ yz)

a) 11
b) —94
c) 16

a) 180
b) 24
c) —232

d)
€)
f)

d)
e)
f)

d)
e)
f)
d)
e)
f)
d)

e)
f)

d)

e)
f)

d)
e)
f)

d)
e)
f)

c)
d)

c)
d)

d)

e)
f)

d)

€)
f)

20
—-209
89

-166
1936
280

243
127
874

-3210
17188
—-3096

17
951
80

33

y

4X19y6



13) a) —225
b) —288
c) —-30

14) a) -8
b) —222

15) a) -93
b) 3

16) a) x*

b)

c)

17) a) L

18) a)

19) a) —

20) a) —

b) —

d)
€)

d)

d)

—-152

11
32

109




